3 (Sem-6) CHM M 4

20109

CHEMISTRY
( Maj()r ]

Paper : ¢ 4

( Inorgasic Chemistry )

F‘u” Marks . 60
Time : 3 hDul-s

The figures in the ™79 indjcgte full marks
fOr the questi()ns

1. Choose the corret answer/Answer the
following : 15

(@) The terms of 2t °“tahedra] complex are
labelled by thé SYMMetry species of the
overall orbital state a Superscript prefix
shows the

(i) energy staté® °f the term
(i) multiplicity °f the term
(iti) spectroscopic State of the term

(i) coupling stat® °f the term
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(2)

(b) The co
rrelati
tion between electronic state

()

{d)

A9/719

e —

energies and i
be displayeq Ongand field strength can

(1) electronjc State diagram
(i) Orgel diagram,

(fu) Tanabe-Sugano diagram
(iv) spectra] diagram

§eeken Consists of a
(1) monomer

(1) dimer

(if) trimer

(iv) tetramer

of :
myoglobin-like subunits.

[Ti 3
H30)6]*  apsorbs the light of

Wav

f011c:;;,1k-mg"th 5p00iA eWchFRor Ate

Compl:g ligands would form Ti (III)

Sl Eoring (1 [ehtiolchigher
ength thay 5000 A?

() No,
(i) CN-
(iii) NH,
(iv) F-
( Continued )

What di

(3)

sease is caused by the presence

of nitrate more than 50 ppm in water?

(i) Hemolytic anemia
(ti) gickle-cell anemia
(iti) Thalassaemia

(iv) Methemoglobinemia

9061‘5 and [PuOg)™> can b€

The ions [N
lution.

synthesized only in alkaline SO
Becausé€
(i) their dBCOU‘]pOSiﬁOns take place in
acidic medium
acidiC solution they

le complexes

(i) in form
unstab

(ifi) in alkalin® solution they form stable
complexes

(iv) water molecgles coordinated
alkaline medium to form stable

complcxes

in

: 11
e Thrse JSgPHAS Jicq, 1n and
s likely to be radioactive?

1145, which !

( Turmn Over )
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(4) (S)

2. Answer the following - =
_ wing 2x4=8 (b) Write the Sy2 mechanism of ligand

(@) Find out the Rusge]j-Saunders ground- displacement reaction of octahedral

state term for Np*3 jon. complexes.

(b) By applying complexometric titration, () Discuss briefly the functions of
6-5 n‘ﬂ of 0:009] s EDTA solution was haemoglobin and myoglobin  in
required for titratjon of a 50 ml sample biological system-

of water for tota] hardness. Calculate

the total hardnegg jn terms of ppm of
CaCO,. (d) Write about the formation of

coordination complex by lanthanides.

(c) How is artificia] radioactivity manifested
by K-electron capture?

(d) Write briefly apoyut in Vitro fixation of 4. Answer any three of the following : 10x3=30

nitrogen.
(a) () Establish 2 Telation between

stepwise formation constants and

3. Answer any three of the following : 5x3=15 overall formation constant for a
tion Treaction between
(@ The logari bility constant COmBSHR
garithms of sta ty Cu 1) ]+2 and ethvl di 3
ylenediamine. 5
values of oy (enl]™ CuNHal2l™, eeliade
[Aglen)]* ang [ Ag(NH3)2]+ complexes (i) How will yo! €xplain the lability
are 10-7, 7.8 4.7 and 72 respectively. and inertness of the complexes on
Explain why t:he en-complex of copper is the basis of CFT_? Which one of d°
more stable than the ammine complex, and db ionS 1S more inert in
whereas the reverse is true for the low-spin octahedral complex?
corresponding gjlver complexes. 4+1=5
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( (7))
6 )
iological
: ; ) State how CO affects b1olog}c
(B) () Write the ygeg of Ag, Pt and Au as (e) () <ystem and how it can be remedied. 3
g medicine 5 o
‘ : icities
(ii) Writ th 5 (ii) Discuss the sources and toxic !
Iile a note on chelate therapy. caused by copper and cadmium.
i a
; (i) A museumn }ﬁflshes tc? anadyztent
(c) () Write aboyt the consequences of piece of ruby for chromium conte d
lanthanige contraction. 5 What Shc;uld albe the .pretf)ex.‘r;y
y d of analysis? Write brie
(i) The higher oxidation states are n:;zs the method. 1+4=5
more compy, p for actinides than for 3
lanthanjges  why? 3
(@) Why are the observed magnetic * * *
momentg - actinides lower than
the caloyjqred value? 2
[d () Explain the mechanism of Na®-K*
Pump_ 5
(@) Why do the tetrahedral complexes
show intense colour than the
OCtahedI‘al Complexes? 3
@ The reacrion
[NiXLsr #H20 2 :
NiL 5 (H20)]™ + X~
is Much, gyster if L is NHj instead of
20. EXpIain' 2
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